


R K %= £ K R

B2 10FE R D RS2

40

)
w
o
|
N
N
N
(3, ]
|
| N
H
| N
(0 o]

10 —

5 || ||

H23% H24%F H25% H26%F H274 H28%F H29%F H30F RTF R2E
(%)

R K % £ K iR

RH2FE RS ER

RS 5

HREFK % O

mEYIK %

mFRER K

DERKR

BE DK%

_27_




10FEFRMOXRXKRHFEY  REAEFHLBR

X 2
K % # B % 6 @ I\ SEEE
HEH (FA)

I S % | 8B

o | B (m) |#F(a) s

M| B W fk | &

£ Bl

FRE23F | 35| 9 (1 (6 (19 742 4 1|3 16,672
FRE24%F 241 9 10| 8| 7 750 0 3 [ 1 56,888
FRE25%F |40 7 | 2 | 9 | 22| 1309 3 1] 4 20,106
FrE26F |36 (11 3 (11| 11 762 20 3 | 2 60,596
FERE2T7E 12 2 (2| 4| 4 12 1 0O 1,153
FrE28F |31 9 (1|6 |15 643 6 1| 2 43,928
FERE29F 25 6 | 0| 7 |12 891 0 0| 3 64,274
FrE3 0F 27| S| 0| 7 |15 321 0 o 1 60,381
SN x F 241 6 | 1| 6 |11 804 57 0| 6 44,126
M2 £ 28( 9 | 0| 5 |14 3807 0 1] 3 162,123

_28_




B Al kK R

X R

Ml 2 F£ H

S
.

mﬁ < ~— ~— AN
O o — -
S m |o
o E -
8:” © ~— ™ | AN
75 - -
© m = -
55 < - -— N
45 - -
35 < - - -— —
2:” ™ - - -—
15 - -—
a = Y|~|~n|o|o|o|o o|lolo|d|o|o|f~|o|o|~|o|n|Oo|o|lo|O|~|N|[n|o0 |
= rS AN VH RV ) & O 1 || o8 o 8 R odD|I (X XREK| S X|SEF
__.u 8 w N = X i
# f g

B I SR LN

B |B|(m|R|&|R # IR 4e NEIE e < s|e

; v UL IE 1 3

e [} N L

(RN R E i® N % | = R R R X MR8 X[E VK

_29_



T+ M 2 £ A M X K R =R

B3 | mk¢H RIEER | SEEE B =@ (FA)
Y
S m S
nﬂtas;;@,?m;aezﬁ 4 ® | 4| ® | oz
st s|mle| ™ |[(@ | 5| &5|F s m | 5| ® |
a5
5Et |28/ 9|1 0| 5(14(13,807| O 1]13]101162,123(147,814] O [12,462| 1,847
18 |1 1 167 167
2 | 3| 1 2| 215 1 4,836 4,756 80
3H | 4 1(3 1 12,490 11,700( 790
48 11| 1 2 1 248 248
5A 4] 2 111 1 1 170 24 135 11
68 |11 1 6 6
78 | 1 1 0
8H | 6|1 5 1 0
98 | 1] 1 37 37
10A(0 0
11A8]| 2 111 160 160
12AH| 4| 2 111/13,590 215]144,009(142,743 300 966

_30_




sHM2FHAXKEREMNXRRERIRSR

X 3 X % # B W% A @ ’ ESE
s " > |mam | Hee | | | AR
i 9| %@ | £ | =

BRI
& § 28 | 9 0 5 [14 | 3,807 0 1 3 162,123
0~ 1 0

1~ 2 1 1 300
2~ 3 1 1 11,700
3~ 4 0

4~ 5 0

5~ 6 0

6~ 7 1 1

7~ 8 0

8~ 9 1 1 60
9~10 4 2 2 382
10~11 2 2
11~12 1 1 160
12~13 4 1 3 215 6,511
13~14 2 1 1 23
14~15 2 2 1 1
15~16 1 1 2 248
16~17 0
17~18 1 1
18~19 0
19~20 0
20~21 3 1 2 37
21~22 1 1 1
22~23 3 2 1 3,590 1 2 142,700
23~24 0

x5 0

_31_




f W & KW M X ® - K =R

R3 4 1%
HER| o
G SR AN - SRR BN m | i
= s (W2 w20 x| F
& 2125 (613 |309 |144 | 81 |251 |135 |123 |336 |102 | 31
A0 B 1,684 [|513 |253 [119 | 58 192 [103 [102 |257 | 66 | 21
50mm | 16 | 7 3 1 3 |1 |1
75mm | 670 [[199 |98 |40 |20 | 69 | 44 | 18 |124 | 46 | 12
100mm | 381 [[92 |53 |25 |13 |50 |34 |33 |61 |16 | 4
| &
125mm 5 5
150mm | 350 [[125|64 |13 |20 |37 |22 |32 [31 | 3 | 3
KB
200mm | 97 [36 | 9 2 | 9 7 |33 1
250mm | 45 [22 | 5 |12 2 | 4
7| =
300mm | 54 |6 |12 |25 11
350mm | 38 [14 |12 | 4 8
400mm 19 8 11
450mm 9 4 5
o & | 441 [100|56 |25 |23 |59 |32 |21 |79 |36 | 10
oomk® | 37 [ 3 |5 | 2 4 |42 |98
B
w |2 29TAL= | 98 |1a |3 |7 |6 [13|8 |7 [18 143
x| .| 40mE~
| POTALZ | 208 |74 |47 |16 |17 |42 |20 |12 |50 |14 | 6
o 60mill~ [ o | 5 1
1 0 Ok
100mptE | 7 [ 4 |1 2

_32_




S HM2FEEARAEDE & B & @ H R
EMIR A B 5 2 (% z
A R
&t 58 2 29 17 10
48 0
55 0
68 4 3 1
7H 3 3
8AH 1 1
9H 9 3 4 2
10A 10 3 5 2
11A8 17 1 10 4 2
12A1 2 1 1
18 4 3 1
2AH 2 1 1
3H 6 5 1

_33_



